Equal 16 step grey scaling betweeln* \, and L*, for three reflections of ambient light

No ambient reflection Yy=0, L*\=0

Ambient reflection Yy=2,5,L*\=18

Ambient reflection Y\=40,L*\=70

L* lightness differenceAL* =6,3 lightness differenceAL*=5,1 lightness differenceAL*=1,7
100+ n0. w*  wr LY Yii YN n0. w*  wr LY Yt YN no. wqe L Yie YN
O 10 10 954 85 00 (16 10 10 954 885 25 (O 16 10 954 885 403
15 0.933 936 845 403
15 0945 0933 90.2 768 25 i 08 503 sa8 403
15 0933 0933 89.0 742 0.0 : i i : i 12 0733 885 732 403
11 0.666 868 696 403
14 0891 0866 850 66.1 25 10 gp,, 81 062 403
14 0866 0866 826 61.5 0.0 H 0388 B34 829 403
80 + 13 0837 0799 79.9 565 25 7 0399 799 566 403
13 08 08 763 504 00 3 038 765 207 403
: : : : 12 0783 0733 747 479 25 4 0199 748 480 403
3 8 183
12 0733 0733 699 406 0.0 11 0729 0666 69.6 401 25 1 00 696 403 403
11 0666 0666 636 323 0.0 10 0675 0599 64.4 333 25
60+ 9 0621 0533 592 27.3 25
10 06 06 57.2 251 0.0
©® 8 0567 0466 541 220 25
® 9 0533 0533 508 191 0.0
® 7 0513 04 489 175 25
@ 8 0466 0466 445 142 00 @ 5 0459 0333 438 137 25
40 @7 04 04 381 101 00 @ 5 0405 0266 386 104 25
4 0351 0199 334 7.7 25
@ 6 0333 0333 318 69 00 L
@ 3 0206 0133 283 55 25
@ 5 0266 0266 254 45 00
@ 2 0242 0066 231 38 25
20T @4 o0z 02 190 27 o0 @ 1 018 00 180 25 25
@ 3 0133 0133 127 15 00 ISO/CIE 11664-4: L*j; = intended CIELAB lightness of output
|EC 61966-2-1: w*, is approximately proportional to L*
@ 2 0066 0066 63 07 00 SRGBIS app! 'y prop
W*sRGRB= L*/95,4; wp = [L*-L* N/ [LYw-L* NI
O- @1 00 00 00 00 00 A - ) S
Yjt = intended tristimulus value with output linearization
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